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GCSE Mathematics
Practice Tests: Set 6

Paper 1H (Non-calculator)

Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser, calculator.
Tracing paper may be used.

Instructions

o Use black ink or ball-point pen.
e Fill in the boxes at the top of this page with your name,
centre number and candidate number.
e Answer all questions.
e Answer the questions in the spaces provided
— there may be more space than you need.
e Calculators may be used.
e Diagrams are NOT accurately drawn, unless otherwise indicated.
¢ You must show all your working out.

Information

o The total mark for this paper is 80
e The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

Read each question carefully before you start to answer it.
Keep an eye on the time.

Try to answer every question.

Check your answers if you have time at the end.

ALWAYS LEARNING PEARSON

Practice Tests: Set 6 Regular (1H) — Version 1.0

This publication may only be reproduced in nccordance with Pearson Education Limited copyright policy.
2016 Pearson Educarion Limned.



L—(‘_)CL- cnd Censtruchcn s

; Answer ALL questions.
" Write your answers in the spaces provided.
You must write down all the stages in your working.

1.  Use ruler and compasses to construct the bisector of angle ABC.
You must show all your construction lines.

o

(Total 2 marks)

2. Peter, Tarish and Ben share £54.

Tarish gets three times as much money as Peter.
Ben gets twice as much money as Tarish.

How much money does Ben get?

Tawish= 3x T+ IL+ e =S4t
= e (CD')C_ ] gk+
Bet = Gvo
X = £5.6L0
(*10) SO
&
(xe) 6z = E3L 0 52 40
- i

(Total 3 marks)
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On the grid draw the gréph of x +y = 4 for values of x from -2 to 5
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(Total 3 marks)
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4. PQRS is a square. |

P jx—2 o
ol 2 | '
S R

All measurements are in centimetres.

Show that the perimeter of the square is 10 cm.

SqmMoune. hos equed S"d'-" -2 = At

(=) 2x~-2 =~ |
(+2) 2x = 3
(22) . =3fe

2
Eaon side langhn X+t =g Hl = —i.—_" =2. 5,

Pedmabes = lxtongih | P

il
E
<
v
(1

1

(Total 4 marks)
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Camnpaund Shapes

5. The diagram shows the plan of a floor.

15 m

8m

Diagram NOT
@ accurately drawn

X m

=i

i The area of the floor is 138 m?.

Work out the value of x.

A-I{QD\@ = L

Area )= L)

erpend

Toted Arean = ()

Tolad = (Z2E8m"

(+2x)
(-158)

A (Sux R = RO

A= "B < (IS"?(-)
= 3(%x)
= KS-3x

Toted = 120 445 -3¢
Toted = 165 -3

1238 = l6T—-23

3xt (B8 = &3
D =27
z = qm (Total 4 marks)
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6.  There are 40 litres of water in a barrel.

The water flows out of the barrel at a rate of 125 millilitres per second.

1 litre = 1000 millilitres.

L 2
Work out the time it takes for the barrel to empty completely. |y

Ui = (C00W il 40 Whnas = 40000 i hres

USE BUS SToRP
Fol BenuIST o)

230
3
S00O

LA O032 ees
HCOOOMUdves - 1287 = 320) )L«oo% o6

BFS

.................... 2."2_0 seconds

(Total 3 marks)

7.  (a) Work out 2 +l

5 4
@ Comman _f_+ s
donomnoter| 2 o

— (3

1102

Work out 3— x =

(b) Work ou SXS

L. 25 25
% .
S
“-©
: -
gwfhflj "[;

de.iq Factkans

mu.u\pl@.'ﬁ Mr ol N umbors

VMAL. Screme 1S wwlone W

(Total 5 marks)
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8.  Lillian, Max and Nazia share a sum of money in the ratio 2: 3 : 5

(a) What fraction of the money does Max receive?

Toke| ports 243 FS =10

kil -2
| Mo —39@/’!’5 -

s ————

=
S
(2
Nazia receives £60
(b) Work out how much money Lillian receives.
Nozia = Sports S?aﬁrs : £L60
(:5) lposrt = £i2
2 s = Z
L ion=2perts (%) parts = L2
£l
3)
(Total 5 marks)
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9. (a) Solvell—4y=6y-3
(1) | 11=10y-3
(+3) | We= 10y
(‘:':(O) Y =
© :j | \L[' ............................
@
(b) Solvex?—3x—-40=0 Sum bts -3 Pmd' = <Al Sa\ux .
p«oforrse- (x. -8)(xt35)=O
Sslve Z=8or x -3 =0
X = esniin % ................................... X = -’g- .......................
3)

(Total 5 marks)

10.  There are 11 pens in a box. I) ! ‘ P ! ]-‘-l T

6 of the pens are black.
3 of the pens are red.
2 of the pens are green.

Henry takes at random two pens from the box.

Work out the probability that he takes one black pen and one green pen.

Must choo 52 (Ba)e(GH) Plee | Pz
P(r) + OL68) B
i = (s 6/“ B / -
—— Y W B Plm =L L =o
. il
— -_— \
5 2 Cr _ &
e, AN o6 PRzl =
R (Total 4 marks)
NG
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11. The size of the obtuse angle in an isosceles triangle is x°.

Write an expression, in terms of x, for the size, in degrees, of one of the other two angles.

Theotng™ 2 argles = 80~ 180" e A
= \POX |\Soscelen O
Tre B1GLY awe equold= 12 = .

| Ladk (e
12. (a) Write down the value of 92

CL%"'QJZ 2

il

(b) Write down the value of 8

2k =16

(¢) Write down the value of &

i\

|
<
l+v
*=% i = U
i -

olve = 22m+3 ms&
g_(_d)g_il g3 é_s)f: 21M1’3 C}\%L of
eopord | s
arat| =2 é
Drplases | 2 < 2™ is= 2y T .
(_3\ 12 = Zm (Total 6 marks)
(;-l) 6 - M
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13.  Tom recorded the times, in seconds, some boys took to complete an obstacle course.

He drew this box plot for his results.

= |

20

100 110 120 130 140
Time (seconds)

Tom also recorded the times some girls took to complete the obstacle course.

Here are the times, in seconds, for the girls.

99 101
113 114

103 106 108 109 110 110 111 112
115 115 117 120 124 125 132

ML Con=D Madale Jerna.

Compare the distribution of the times for the boys with the distribution of the times for

the girls.
redians

Ouastiles - (La)
(uQ)

[QE~-\R-L&

Congore Aishrouhond

\Sweg..d = 1R

Veps W GirlSt 1 tgm= (O +em =1L
o Z

B:tjs'. \O3 HH yom = - s™yeom= log
Bods: 0 . = B™em= 112
e = | ¥ Qe — HF—0% =9

On ouremge , fna Loys Hesn \eaper to candkn
e corse (loger mafian)- The spread off fle
\ogj_: dedn Las e (loger TQL) WM. impl'es
o chages 5 Ledd vekedle -

(Total for 4 marks)
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14. (a) Write 8.2 x 10° as an ordinary number.
Coceanl

$z2 0000

Sjumes L

(b) Write 0.000 376 in standard form.
kel

(¢) Work out the value of (2.3 x 10'%) + (4.6 x 107)
Give your answer in standard form.

spli+ 2.3, ¢ =0.5

: ) . L Q
Comboung. = 0-F X\O

Stendgrdt fean | = S % o

(1)
- L
3.1 %< \0O
(1)
.................. SRV i
@)

(Total 4 marks)
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15.

Vecters

Diagram NOT
accurately drawn

A

&

D
C
0 v
In the diagram,
OB =b
0C =c¢
S 1 —_—
OC =—-04
3

Find CD interms of b and ¢.

Give your answer in its simplest form.
You must show all your working.

B =

o

2h =

-
-

SN e M%WB—S

s — - - =3
CA+ A0 cr | CD=C3 +SB +8D

>
- 1
= s+z+%mm

-y +OR z—=C +Yp +-l‘_-‘_(_.\3+3_=__3
-b 3¢ —cc+b-Llo¥io
= e rje-e
= 2e-ge
= 4(e-9)

(Total 4 marks)
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16. Two events, 4 and B, are mutually exclusive.

P(4)=03
P(B)=0.5

(a) Work out P(4")

PCAY v0(A) = | S P(N) o

(b) Work out P(4 w B)

9
O__E
= P(A) +PCB) -o.2+0.5
P(C)= 0.4

P(D)=0.2
P(C~ D)=0.06

(c) Are Cand D independent events?
Explain your answer.

@
(Total 4 marks)
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2x* +9x -5

17. Simplify full
pliy ity 6x* —5x+1

P.w#msre.wp (Zee =1 Yo g gj
Ge-' Yx-1)

pr\C,W e ot

Sm&p\r[‘—(.'( @}z/lj(au-,s)

2C4S

(Total 3 marks)
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18.
e Disgram NOT
/?\% accurate]y drawn
-
';:?f( l‘
/J’f .',I. f’\ \I\!
/e / |
[~ ! |
| — T

| N~

\ / )% /

\ o

_ i
AB is a diameter of a circle.
C is a point on the circle.
D is the point inside the circle such that BD = BC and BD is parallel to CA4.
Find the size of angle CDB.
You must give reasons for your answer.
A 4
- 6 F .
ACB = 90 Anglean ovsena — e = qE°

CRO=ACL =10° | Co-mieit/ cugle) W potdlih Lngd sume | 80"

/>>\ RC: BD (S'V@\J\\
i
w2 ' BCDisaun tyoscolen *V\U&LL

NN
L XATTA0 =180 - IRO° W & +—r\“cngla
2x +90 < I(§0
25 = 0 C‘C\O)
R ~ . (22
BoC = X =4S ;

(Total 4 marks)
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19.

Each equation in the table represents one of the graphs A to D.
Write the letter of each graph in the correct place in the table.

QL uolounc.

Ewwd-mi

Equation Graph
y=x—4x+5 D
yes C
y=x+4 3

_4 A
H==
X
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20.  Expand (1 +V2)3 —V2)

Give your answer in the form a + b\2 where a and b are integers.

Jax-d22-2 (FJ2)(22) = 2 =2 + 32 -2
cotiach - 1+2d2

(Total 2 marks)
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21.  Umar thinks (a +1)* = a*> + 1 for all values of a.

(a) Show that Umar is wrong,

expencd | @urits (a-r\)(o\ﬂ)
=a* ool T
colleet = 7—+2a1—|7"-a+;

Here are two right- angled mangles [: A
All the measurements are in centimetres. o -

1.

- Mﬁ“‘m. Diagrams NOT
~ _ e - accurately drawn
\\ ‘\-\'""-5‘_‘ (c+1)
SE (a+ 1) T
) -
\\-\ .“%—-‘”x‘_
R
. \ |—i =
5 (h+1)

(b) Show that2a +2h+1=2¢

Q-jbv\aa:m.% o2+ =c® (O
el H o+ 2e

fom®

/\'L
ot a2kl = OOFL 2L
No+2b+i = 2C

substihue @ 4 (D)
(-&&) E5)

a, b and ¢ cannot all be integers.

|

(c) Explain why.

2 St ,,,,T,,“ bosal Sk Hank j’e -

2F 2ot F oo =

CE ol +2a 2

2 |

(o)™ +(on)" = (en)

cFa2c

STl =C +’LC_+(

—ct+2c @

3)

Assuml o, oond C HLE .vdaa—efs- o 2042 —ewen , 26 = wen. -
Ruk  Qar2bti=cdtd.

_"UQ__‘/\O\VQ assoumiel QAC’MMW:N\W ong -

(Total 6 marks) '
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